LOOPS: SUM OF NUMBERS (CONTINUED)

I am sure you are back; you know understand what exactly this code is doing. Let me now
give you a mind teaser and then let me indent this. I repeat indent this, initially it was here
correct? Now if 1 do it like this what will happen? U know what will happen. This will now
be part of the for loop, it will increment answer by 1 and then it will print the answer right?
Look at this yea zero one three six ten see its printing zero, zero plus one , zero plus one plus
two, zero plus one plus two plus three, zero plus one plus two plus three plus four and it so on
now magic let me now give more details here print first i numbers when added gives, when
added gives answer what does this do now? What will this do now? Anyone? Look at this. Ok
let me zoom down so that you can see the entire line so answer equal zero for i in range five
answer equals answer plus 1 print first whatever is in quotes will be just printed like that. I the
value of i will be printed, i numbers when added gives the answer let me run this. First zero
numbers will added give zero



